
Work is difference between the first and the second value of energy.  

𝐴 = ∆𝐸 

𝐸 − 𝑒𝑛𝑒𝑟𝑔𝑦 

𝐴 − 𝑤𝑜𝑟𝑘  

𝐸 =
𝐼 ∙ 𝑤2

2
, 𝑤ℎ𝑒𝑟𝑒 

𝐼 −  𝑀𝑜𝑚𝑒𝑛𝑡 𝑜𝑓 𝑖𝑛𝑒𝑟𝑡𝑖𝑎; 

𝑤 − 𝐴𝑛𝑔𝑢𝑙𝑎𝑟 𝑣𝑒𝑙𝑜𝑐𝑖𝑡𝑦. 

𝐼 = 30
𝑘𝑔

𝑚2
, 𝑤 = 10 𝑟𝑜𝑡𝑎𝑡𝑖𝑜𝑛 𝑝𝑒𝑟 𝑚𝑖𝑛𝑢𝑡𝑒 = 1.05

𝑟𝑎𝑑

𝑠
 

𝐸1 =  
30 ∙ 1.05

2
= 15.75 𝐽  

𝐼𝑓 𝑤𝑒 𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑒 𝑣𝑒𝑙𝑜𝑐𝑖𝑡𝑦, 𝑤𝑒 𝑤𝑖𝑙𝑙 ℎ𝑎𝑣𝑒: 

𝑤 = 5.25
𝑟𝑎𝑑

𝑠
 

𝐸2 =
30 ∙ 5.25

2
= 78.75 𝐽 

𝐴 = 78.75 − 15.75 = 63 𝐽 - the work done in increasing wheels speed 

http://www.AssignmentExpert.com

http://www.AssignmentExpert.com

